AOsE

&
«aAG = PHw v 310 2 g (390 3T

PN —w oyl i nde g oo
g )
P b ol i, 5,0 1 Solgls ol g ol
\YRY/A\\A Zo,.o)"‘-é.g.)tf @é Yo :O}n}i Sdo DL 1duw ydo
\\ 3 axio % 9 ol e PR 4l SO 19y b
/T - —
Pl Jlow A9

VIO | mdgi Lol 3o 1y LodT 8ueld 31 (59m o S 9 S s |y v AL, yMO, qCu, ((Cr g wsSI Gyl | Y
RUVE] DU PR U150, VY g L QY ¥] L JE VA S SWIRRWY. 1

Y S g [y 3 golis j1 Jol> caS 35 Jood p Jou wazgi b | Y
RS A[B|C|D]JE
a5 o237 SeI GlT | vp® [vp' [vp' | s | s’

¥ S djlge Iy iy gl iasTly | Y

V) NaOH (aq) + P (s) + HyO (I) = NaH POk (aq) + PH (g)

V) KOH +S(s) = K(S(s) + KS,O¢ (s) + H,O (])

) Cl; (g) + NaOH (aq) — NaCl(aq) + NaClOy (aq) + HyQ (1)
£)CeH, . (2) + Oy (2) > CO(g) + HO ()
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) YS(8)+ YO, (g) = YSO; (2)

¥) SOy(g) + H,O(I) > H,SO¢ (aq)
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